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1. w5 Te30o! AR Sferea ¢ 1x5=5
Choose the correct answer :
(@) TS SRS ARG (g | s /
T -41a<)q 7_ 2 |
Vegetative propagation in mint occurs

by (runner / offset / sucker).
(b) (22T [ AR / GOW) I TS oA
CAT T |

Perianth in flower is present in
(Cycas / Pinus / Gnetum).
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(2)

o ces i b e (TR g /
) W @A Al
Cheiropterophily is pollination in plants
by ___ (birds / bats / snails).

(d) 5§ﬂﬁﬂﬂﬁ51ﬁme*ﬁm@____(im / w61 /
1) BRI TR I |

i is formed
Tetrasporic embryo sac 1S .
by & (2 / 4 / 6) number of functional

megaspore.

(e) awFR cfesis g (IfREE
coefiaE / PRam) TETE oEsfe |

Rhynia belongs to the (Permian /
Devonian / Silurian) period of Palaeozoic
era.

2. v o faar (R ceen wif¥d1) 3x4=12

Write short notes on (any four) :
(a) Taz’3 wifvg ofaw
Primitive characters of Ginkgo
(b) $-fgd Aqa (a
Geological timescale
(c) fafem =@ op=sierafimypy
Various types of aestivation
(d) & a5
Male germ unit
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: (3) .

(e) «m. for. f5. =m&f®
NPC system

Rew o] CeRerR Ry Par o 1+7=8

What is inflorescence? Describe any two
special types of inflorescence found in
Angiosperms. Give diagram.

%<1/ Or
SERIRAE 7 28 Sewe e R @I i
2R NIRRT R oz forn | 1+7=8

What is placentation? Describe, with
diagram, any four types of placentation found
in Angiosperms.

3. o=eiReF 57 2R Sewe e R @ 1
|
|
|
1
|
{
1
1

4. 56 S R e wtafee eFgs RIa@
GGl (B fera | 6+6=12

Write a note on the ecological and economic
importance of Gymnosperm.

291/ Or
ArATERe (oIl fore - 6x2=12
Write explanatory notes on :
(@) GaPIFReE Al
Process of fossilization
(b) GIOMA BAANER SRAGPE

Angiospermic characters of Gnetum
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(4)

5. 2T TE© @RI AT HF AN 90579
Ry forn 6+6=12

Describe the process of microsporogenesis
and microgametogenesis in Angiosperm.

211/ Or
LS O oy 6x2=12
Write explanatory notes on :
(@) GEIFERIPTS MR
Monosporic embryo sac
(b) 7T 2R
Types of ovule

6. (o) TR-Favar wirefs [Ra @R

Write a note on the significance of double
fertilization.

(b) ©Y G et (R e wo1) : 3x2=6
Write short notes on (any two) :
(i) IZ=TTS
Polyembryony
(ii) SEREET
Parthenocarpy
(iii) TeAre& e o=

Structure of dicot embryo
* K K
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